Manuals+ — User Manuals Simplified.

HG(HA)12
Refrigerating
Compressors

Danfoss HG(HA)12 Refrigerating Compressors Instruction
Manual

Home » Danfoss » Danfoss HG(HA)12 Refrigerating Compressors Instruction Manual ™

Contents
1 Danfoss HG(HA)12 Refrigerating
Compressors
2 Product Information
3 Product Usage Instructions
4 Overview
5 SAFETY INSTRUCTIONS
6 General
7 Scope of supply
8 Dismantling the terminal board
9 Mounting the terminal board
10 Torques for Screwed Connections
11 Connections on the terminal board
12 Documents / Resources
12.1 References

Danfoss HG(HA)12 Refrigerating Compressors


https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/danfoss
https://manuals.plus/danfoss/hgha12-refrigerating-compressors-manual.pdf
https://manuals.plus/#danfoss_hgha12_refrigerating_compressors
https://manuals.plus/#product_information
https://manuals.plus/#product_usage_instructions
https://manuals.plus/#overview
https://manuals.plus/#safety_instructions
https://manuals.plus/#general
https://manuals.plus/#scope_of_supply
https://manuals.plus/#dismantling_the_terminal_board
https://manuals.plus/#mounting_the_terminal_board
https://manuals.plus/#torques_for_screwed_connections
https://manuals.plus/#connections_on_the_terminal_board
https://manuals.plus/#documents_resources
https://manuals.plus/#references

Product Information
Specifications:

« Product Name: Terminal board for refrigerating compressors
« Compatible Models: HG(HA)12/22 /34 /4 /5 /6, HG44e / 56e/66e, HG7, HG8, 88e, HR40

« Manufacturer: Not specified

Product Usage Instructions

1. Safety Instructions

Always follow safety guidelines when working on the electric motor and compressor.
2. Scope of Supply

Check the kit number or ensemble to ensure you have all the necessary components for installation.
3. Dismantling the Terminal Board

1. Switch off the compressor and disconnect it from the mains.

Relieve pressure in the motor and compressor housing.
Open the terminal board cover and disconnect the power lead and fan cable.

Unscrew the terminal board screws and lift it up to access the cable harness side.

o ~ w N

Disconnect and remove the motor cable from the terminal board, replacing the seal as needed.

FAQ:

Q: What should | do if | encounter difficulties during the dismantling process?
A: If you face any challenges during dismantling, refer to the manual for troubleshooting steps or contact customer
support for assistance.

Overview



SAFETY INSTRUCTIONS

Caution!
Refrigerating compressors are pressurized machines and therefore require particularly careful handling.

« Only qualified staff are allowed to handle refrigerating compressors.

« Local safety regulations, accident prevention regulations, technical rules, and other valid specifications must be
observed.

« The compressor may only be operated in refrigerating systems, and only with the coolants approved by Bock.

« The maximum tolerable operating over-pressure may not be exceeded (not even for test purposes).

« Before starting the compressor, the pressure shut-off valve and suction shut-off valve are to be opened.

« Before starting up, check that all compo-nents mounted by the user have been properly mounted and are
connec-ted pressure-tight with the compressor (e.g. pipelines, bungs, union nuts, replaced parts, etc.)

« When starting up, do not start the compressor in a vacuum. Only operate the compressor when the whole
system has been filled.

« Surface temperatures of more than 100 °C are possible on the pressure side respec-tively under 0°C on the

suction side, depending on the operating conditions.

General

Sometimes, repairs to the electric motor, e.g. replace-ment of the stator, make it necessary to dismantle and then
remount the terminal board on the compressor. These instructions describe the procedure for dismantling and
remounting the terminal board to the refrigerating compressors series HA and HG.

Scope of supply
kit no*
N . -
o Quantity and description Kit Number
CF:S 097B8 | 097B0 | 097B8 | 097B8 | 097B8 gggg
0579 | 8949 | 0098 | 0206 | 1244 5
097B

. 097B0 | 097B0 | 097B0 | 097B0 | 097B7
1|1 | Terminal board 6727 | 6747 | 6864 | 6977 |oi60 | 2186

2 |1 | Terminal board seal 09780 | 09780 | 09780 | 09780 | 09780 | o 7
e al board sea 6794 5550 ot podhs oo




097B0

3 |4 | Hexagonal screw M6x20 5404 |~ - - _
097B0
3 | 4 | Hexagonal screw M6x25 - - - - 5105 |~
1 097B0
3 0 Hexagonal screws M8x25 — 5421 - - - _
1 097B0
3 0 Hexagonal screws M10x35 - - 5447 - - _
097B
3 | 1 | Cylinder screw M5x6 - - - - - 5189
5
097B
3 | 5 | Cylinder screw M8x20 - - - - - 0633
0
1 . 097B0
3 0 Cylinder screw M10x20 - - - 5507 |~ _
. . 097B0 | 097B0
4 |1 | Insulation foil NPN 5 - 5073 | 5074 - - _
: 097B0
4 |1 | Insulation cover - - - 5066 - _
5 | 3 | Bridge electrical connection 09780 | 09780 | 097B0 | 097B0 | 097B0 | _
g 6258 | 5741 | 5916 6980 | 6258
097B0 | 097B0
6 | 6 | Lock washers S M8 - 5654 | 5654 - -
097B
1 . 097B0 097B0
6 5 Disc B5,3 5650 | - - 5652 2565
1 ; 097B5
6 5 Disc B10,5 - - — 0010 — _
1 . 097B5
7 5 Spring washer B10 - - - 0002 |~ -
097B0 | 097B0
8 | 6 | Hexagonal nuts M8 - 5629 | 5629 - - _
097B
1 097B0 097B0
8 5 Hexagonal nuts M5 5607 |~ - - 5607 (7)562
1 097B5
8 5 Hexagonal nuts M10 - - - 0006 |~ _
. 097B0
9 | 1 | Terminal box gasket - - - 6079 |~ -
097B
. . 097B0 | 097B0 | 097B0 | 097B0 | 097B0
10 | 1 | Operating instructions 9977 | 9977 | 9977 9977 | 9977 0997




097B
. : 097B0 | 097B0 | 097B0 | 097B0 | 097B0
11| 1 | Important information 9939 | 9939 | 9939 9939 | 9939 0993

*Please note that the legacy BOCK code numbers are without 097B

Dismantling the terminal board

. Switch the compressor off and secure it to prevent it from being switched on again. Disconnect the machine
from the mains. Relieve the pressure in the motor and compressor housing.

Open the terminal board cover. Disconnect the power lead. In HA compressors, also dismantle the electric
capacitor (fig. 0). Disconnect the fan cable.

Unscrew the terminal board screws. Lift the terminal board and turn it to the side with the cable harness (to give
you room to work).

Unscrew the fastening screw of the terminal board. Tip the terminal board over (fig. 1).

Note: Before continuing, check that the connection designations, cable lug markings, and color markings of the
motor cables on the bottom of the terminal board are easily visible. Otherwise, clean these before
disconnecting and mark them indelibly.

Disconnect and remove the motor cable from the bottom of the terminal board. Replace the seal.

Note:

In the larger Y/A-motor types (HG(HA) 6), there is an additional spacer (fig. 2) fitted under the terminal board to
make it easier to connect up the rigid cable harnesses. When replacing the seal, ensure that both seals are
replaced, i.e. both on and under the spacer.

Mounting the terminal board

The terminal board is mounted in reverse order.

Note: When you tip the terminal board over, the connection screws for the motor wires now appear ,upside

down®.
It is therefore vital to ensure that the connection terminals are positioned and connected correctly!
Caution! Comply with the instructions in the terminal box cover!

Important! Order for mounting of the screws for HH4-6 must be observed, see numbering:



Torques for Screwed Connections

« Live connections

« Brass screw connection
« M3,50,8 Nm

e« M41,2Nm

« M451,8Nm

« M52 Nm

« M63Nm

Connections on the terminal board

Connections on the terminal board for HG(HA) 12 with star delta circuit (Y/A)



Klemmbrett HG(HA)12 (Oberseite)
- Terminal board HG(HA}12 (top view)
. Planche a homes HG(HA)12 (Vue de dessus)

Kabelbaum (1)
cable harness (1)
Faisceau de cables (1)

rot/ red/ rouge

A weiB/blau / white/blue / blanc/bley  ee————— Klemmbrett-Unterseite
Underside of the terminal board

schwarz / black / noir
I Planche & bornes - coté inférieur
(- &
b g schwarz
ACHTUNG! Unbedingt auf richtigen - 0 i
Anschluss der Kabelbdume achten! w2 @ ‘@' i
CAUTION! Pay particular attention to h
correct connection of the cable hamesses! _@_\'2 ﬁf “:aﬁ
ATTENTION! Veillez impérativement au bon &
raccordement des faisceaux de cibles uz _$_ L
T/

Anschluss fir PTC-Fiihler

rot/red / rouge Connection for PTC sensor
A schwarz / black / noir Raccordement pour capteur PTC
weil/blau / white/blue / blanc/bleue
Kabelbaum (2)

cable harness (2)
Faisceau de cable (2)

Klemmbrett HG(HA)12 (Unterseite)
Terminal board HG(HA)12 (underside)
Planche & bornes HG(HA)12 (coté inférieur)

Connections on the terminal board for HG(HA) 22 and 34 with star delta circuit (Y / A)

Klemmbrett HG(HA)22 und 34 (Oberseite)
Terminal board HG(HA)22 and 34 (top view)
Planche a bornes HG(HA)22 et 34 (Vue de dessus)

[

Kabelbaum (1)
cable harness (1)
Faisceau de cébles (1)

rot / red / rouge Klemmbrett-Unterseite
A weiB/blau / white/blue / blanc/bleu gl"der;"d? 3;”‘9 ter"}'t",ﬂ' ‘f’??”‘
anche a bornes - coté inferieur
schwarz / black / noir
'$ r{ ™\
O O @)
p— 5CHWArZ
" @
ACHTUNG! Unbedingt auf richtigen V1 z:;fk
Anschiuss der Kabelb4ume achten! @ w1
CAUTION! Pay particular attention to w2 schwarz
correct connection of the cable harnesses! @ V2 S
ATTENTION! Velllez Impérativement au bon E
raccordement des falsceaux de cibles 0 uz o 0 ]

Anschluss fiir PTC-Fuhler
rot / red / rouge Connection for PTC sensor

A schwarz / black / noir Raccordement pour capteur PTC
weiB/blau / white/blue / blanc/bleue

Kabelbaum (2)
cable hamess (2)
Faisceau de céble (2)

Klemmbrett HG(HA)22 und 34 (Unterseite)
Terminal board HG(HA)22 and 34 (underside)
Planche a bornes HG(HA)22 et 34 (coté inferieur)

Connections on terminal board for series HG(HA) 4, 5, 6 and HG44e, 56e, 66e with part winding circuit (PW
Y /YY)



e Klemmbrett HG(HA) 4,5,6, HG44e (Oberseite)
2W1 Terminal board HG(HA) 4,5,6, HG44e (top view)
Planche a bornes HG(HA) 4,5,6, HG44e (Vue de dessus) Teilwicklung 1

Part winding 1
Bobinage partiel 1
weip 3 -
e Klemmbrett-Unterseite
white 2 g :
blanc 1 Underside of the terminal board
Il Planche a bornes - coté inférieur

-

ACHTUNG! Unbedingt auf richtigen I 1 (VI; ‘I'ﬂ_) $

Anschluss der Kabelbiume achten!

CAUTION! Pay particular attention to
correct connection of the cable harnesses!
ATTENTION! Veillez impérativement au bon '$_
raccordement des faisceaux de cables _¢

rot gestrem 7 e

Teilwicklung 2 A red striped 8
Part winding 2 raye rouge q

 Bobinage partiel 2 Teilwicklung 2
. Part winding 2 Anschluss fur PTC-Fuhler
Lt | Bobinage partiel 2 Connection for PTG sensor
Klemmbrett HG(HA) 4,5,6, HG44e (Unterseite) Raccordement pour capteur PTC

Terminal board HG(HA) 4,56, HG44e (underside)
Planche a bornes HG(HA) 4,5.6, HG44e (cdté inféreur)

Connections on the terminal board for HG(HA) 4, 5, 6 and HG44e, 56e, 66e with star delta circuit (Y / A)

Klemmbrett HG(HA) 4 5.6, HG44e (Oberseite)
Terminal board HG(HA) 4,5.6, HG44e (top view)
Planche a bornes HG(HA) 4.5.6, HG44e (Vue de dessus)

Kabelbaum (1)
cable harness (1)
Faisceau de céble (1)

blau (weiB) / blue (white) / bleu (blanc)

: Klemmbrett-Unterseite
schwarz / black / noir p !
A ot/ red / rouge Underside of the terminal board

Planche & bornes - coté inférieur

ACHTUNG! Unbedingt auf richtigen @ W1 _$-

Anschluss der KabelbZaume achten!

CAUTION! Pay particular attention to
correct connection of the cable harnesses!
ATTENTION! Veillez impérativement au bon '$‘
raccordement des faisceaux de cables

: m Kabelbaum (1)

U1 V1 W1 cable hamess (1)
Y blau (weiB) / blue (white) / bleu (blanc) “
rot/ red / rouge
schwarz / black / noir
Kabelbaum (2) Anschluss fur PTC-Fiihler
cable harmess (2) Connection for PTC sensor
Faisceau de cables (2) Raccordement pour capteur PTC

: Klemmhrelt HG(HA) 4 5 6, HG44e (Unterseite)
Terminal board HG(HA) 4,56, HG44e (underside)
Planche a bornes HG(HA) 4.5,6, HG44e (cdté inférieur)

Connections on terminal board HG7 standard part winding (PW Y / YY)



Klemmbrett HG7 (Oberseite)
Terminal board HG7 (top view)
Planche & bornes HG7 (vue de dessus)

Teilwicklung 1
Part winding 1
Bobinage partiel 1
A g —— Klemmbrett-Unterseite
| — Underside of the terminal board
Planche & bornes - coté inférieur

ACHTUNG! Unbedingt auf richti O LA R O E
I un [ aut e 1gen i = =
Anschluss der Kabelbiume achten! @ (é) 6) ®\ = % H
CAUTION! Pay particular attention to P T
correct connection of the cable harnesses! O @(((_5) @ O O E = s
z LI LR —_—— 1 A1 2™ sSE8
: . Tellwicklung 1 p s =
9 C raccordement des faisceaux de cables O QO g S
¥ Part winding 1 Z2BE
@ P Babmage paﬂ]el 1 g E S
i =]
7§ <33
J 8 &
 Teilwicklung 2 9 thoke
l Part winding 2 Tel\ququng 2
Bobinage partiel 2 Part winding 2
‘F e Bohinage partiel 2
Klemmbrett HG7 (Unterseite)
Terminal board HGY (underside)
Planche & bornes- cdté inférieur
Connections on terminal board HG7 Star delta (Y / A)
Klemmbrett HG7 (Oberseite)
Terminal board HG7 (top view)
Planche a bornes HG7 (vue de dessus)
Kabelbaum (1)
cable hamess (1)
Faisceau de cébles (1)
Klemmbrett-Unterseite
|] - e— Underside of the terminal board
Planche a bomes - c6té inférieur
[o]
ACHTUNG! Unbedingt auf richtigen
Anschluss der Kabelbiume achten! U ( ) ( )

CAUTION! Pay particular attention to

correct connection of the cable harnesses! @/O o o

ATTENTION! Veillez impérativement au bon w2 U
raccordement des faisceaux de cibles O

Kabelbaum (1)
cable hamess (1)

Anschluss fiir PTC-Flhler
Connection for PTC sensor
Raccordement pour capteur PTG

= =™~

Kabelbaum (2)

Faisceau de céble (1) f
cable hamess (2)

\ Y | Kabelbaum (2) Faisceau de cables (2)
cable hamess (2)
Falsceau de cables (2)
ot W\ | Klemmbrett HG7 (Unterseite)

Terminal board HG7 (underside)
Planche & bomes HG7 - coté inférieur

Connections on terminal board HG4 8/4 pole (A/YY)



Klemmbrett HG4 8/4 polig (Oberseite)
Terminal board HG4 8/4 pole (top view)
jl Planche 4 bornes HG4 8/4 ples (vue de dessus)

Kabelbaum (2)
cable hamness (2)
Faisceau de cbles (2)
blau / blue / bleu X -
A schwarz / black / noir y Klemmbrett-Unterseite
Underside of the terminal board

i, B Il Planche a bornes - cdté inférieur

ACHTUNG! Unbedingt auf richtigen
Anschluss der Kabelbaume achien!

CAUTION! Pay particular attention to
correct connection of the cable harnesses!
cable harness (2) ATTENTION! Veillez impérativement au bon |

Faisceau de cébles (2) raccordement des faisceaux de cables

: rot/red/rouge y S —— "

schwarz / black / noir v
blau / blue / bleu

i 3 Kabelbaum (1) B ~
Klemmbrett HG4 8/4 polig (Unterseite) cable harness (1) énschlctfs f:r PIITC(;FUNH
Terminal board HG4 8/4 pole (underside) Faisceau de cable (1) oot el
Planche & bornes HG4 8/4 poles (coté inférieun eEEOicIRe il oot I

Connections on terminal board HG(HA)6 (26/30 kW) with star delta circuit (Y / A)

In series HG(HA)6 for 26 kW or 30 kW, the power supply from the terminal board to the motor consists of 2 cables
for each connection lead because of the power involved. When mounting the terminal board, the two
corresponding cables with the same designation are to be set at the same terminal. In addition, a spacer is to be
inserted between the terminal board and com-pressor housing with corresponding seals.

Klemmbrett HG(HA)G, 26/30 KW (Oberseite)
Terminal board HG(HA)6, 26/30 kW (top view)

N Kabelbaum (1)
73
Ler ? Planhe a bornes HG(HA)G, 26/30 KW (vue de dessus) cable hamess (1)

Faisceau de céble (1)

blau / blue / bleu w -
Stz blaclc L noir Klemmbrett-Unterseite
iy Underside of the terminal board

Distanzstiick Tk sedimine i Il Planche a bornes - coté inférieur

Spacer

Entretoise ® N 1 $‘

ACHTUNG! Unbedingt auf richtigen

Anschluss der Kabelbdume achten! V2
L CAUTION! Pay particular attention to
Kabelbaum (1) correct connection of the cable harnesses! [l _$_
cable harness (1) ATTENTION! Veillez impérativement au bon
Faisceau de cable (1) raccordement des faisceaux de cables
E:Efg?limgm c blau / blue / blel 7 el “
Faisceau de cébles (2) rot/red / rouge X

schwarz / black / noir y

Klemmbrett HG(HA)G, 26/30 KW (Unterseite) Kabelbaum (2) Anschluss fiir PTC-Fiihler
“Terminal board HG(HAJG, 26/30 KW (underside) cable hamess (2) Connection for PTG sensor
Planche & bomes HG(HAJG, 26/30 KW (cbté inférisur) Faisceau de cables (2) Raccordement pour capteur PTC

Connections on terminal board HG8 and HG88e standard part winding (PW Y / YY)



Klemmbrett HGB (Oberseite)
Terminal board HG8 (top view)
Planche & bornes HGE (vue de dessus)

= ML

ACHTUNG! Unbedingt auf richtigen
Anschluss der Kabelbaume achten!

CAUTION! Pay particular attention to
correct connection of the cable harnesses!

ATTENTION! Veillez impérativement au bon
raccordement des faisceaux de cables

i
8

Part winding 2

Bobinage partiel 2

Klemmbrett HG8 (Unterseite)
Terminal board HG8 (underside)

Klemmbrett HG8 (Oberseite)
Terminal board HG8 (top view)
Planche a bornes HG8 (vue de dessus)

ACHTUNG! Unbedingt auf richtigen
Anschluss der Kabelbiume achten!

CAUTION! Pay particular attention to
correct connection of the cable hamesses!

ATTENTION! Veillez impérativement au bon
raccordement des faisceaux de cables

~ . Kabelbaum 1
_ Cable harness 1
Faisceau de cables 1

Kabelbaum 2
Cable harness 2
Faisceau de cables 2

Klemmbrett HGS (Unterseite)
Terminal board HG8 (underside)

Connections on terminal board HR40 star delta circuit Y/A

Teilwicklung 1
Part winding 1
Bobinage partiel 1

Klemmbrett-Unterseite
Underside of the terminal board
Planche a bornes - coté inférieur

Anschluss fiir PTC-Fiihler
Connection for PTC sensor
Raccordement pour capteur PTC

Teilwicklung 2
Part winding 2
Bobinage partiel 2

Kabelbaum 1
Cable harness 1
Faisceau de cables 1

Klemmbrett-Unterseite
Underside of the terminal board
Planche & bornes - coté inférieur

Anschluss fiir PTC-Fiihler
Connection for PTC sensor
Raccordement pour capteur PTC

Kabelbaum 2
Cable harness 2
Faisceau de cahles 2




Klemmbrett HR40 (Oberseite)
Terminal board HR40 (top view)
Planche & bornes HR40 (vue de dessus)

Kabelbaum
Cable harness
Faisceau de cables

schwarz/weil / black.fwhite / noir/blanc Klemmbrett-Unterseite
rot/weiB / red/white / rouge/blanc Underside of the terminal board

weiB / white / blanc Planche & bornes - coté inférieur

ACHTUNG! Unbedingt auf richtigen
Anschluss der Kabelbaume achten!

CAUTION! Pay particular attention to
correct connection of the cable hamesses!
ATTENTION! Veillez impérativement au bon

raccordement des faisceaux de cables

Anschluss fur PTC-Fuhler
Connection for PTG sensor
Raccordement pour capteur PTC

Klemmbrett HR40 (Unterseite)

Terminal board HR40 (underside)

Planche & bornes HR40 (coté inférieur)

Danfoss A/S
Climate Solutions » danfoss.com « +45 7488 2222.

Any information, including, but not limited to information on the selection of the product, its application or use,
product design, weight, dimensions, capacity, or any other technical data in product manuals, catalog descriptions,
advertisements, etc., and whether made available in writing, orally, electronically, online or via download, shall be
considered informative and is only binding if and to the extent, explicit reference is made in a quotation or order
confirmation. Danfoss cannot accept any responsibility for possible errors in catalogs, brochures, videos, and
other material. Danfoss reserves the right to alter its products without notice. This also applies to products ordered
but not delivered provided that such alterations can be made without changes to the form, fit, or function of the
product.

All trademarks in this material are property of Danfoss A/S or Danfoss group companies. Danfoss and the
Danfoss logo are trademarks of Danfoss A/S. All rights reserved.

© Danfoss | Climate Solutions | 2023.06.

Documents / Resources

Danfoss HG(HA)12 Refrigerating Compressors [pdf] Instruction Manual
HG HA 12, 22, 34, HG44e, 56¢, 66e, 88e, HR40, HG HA 12 Refrigerating Compressors, HG HA

12, Refrigerating Compressors, Compressors

References

+ User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.


http://danfoss.com
https://manuals.plus/m/02ba8769ab90d27d3a07869f6b4312cb2e54ffed34dfc91b252046999adfe8e1
https://manuals.plus/m/02ba8769ab90d27d3a07869f6b4312cb2e54ffed34dfc91b252046999adfe8e1_optim.pdf
https://manual.tools/?p=14022408#MTA0LjI4LjIzNC4xNzk7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	Danfoss HG(HA)12 Refrigerating Compressors Instruction Manual
	Danfoss HG(HA)12 Refrigerating Compressors
	Product Information
	Product Usage Instructions
	Overview
	SAFETY INSTRUCTIONS
	General
	Scope of supply
	Dismantling the terminal board
	Mounting the terminal board
	Torques for Screwed Connections
	Connections on the terminal board
	Documents / Resources
	References



